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1. Which among the following events is/are associated with the Cold War?

()
(i1)
(iii)
(iv)
v)

@)
(1)
(iii)

(@)
(11)
(111)

(iv)

()
(i1)
(iii)
(iv)
v)

Cuban Missile Crisis
Pearl Harbor Attack
Vietnam War

The formation of NATO
The Munich Conference
(A) Only (1), (ii1) and (iv) (B) Only (1), (i1) and (v)
(C) Only (1), (ii1) and (v) (D) Only (1), (11) and (iv)

Which of the following statements is/are correct about the Mughal Architecture?

Shajahan founded the fort complex at Fatehpur Sikri.

The lofty gateway to the Red Fort is known as Buland Darwaza.
Moti Masjid in Delhi was built by Jahangir.

(A) All the above (B) Only (1) and (i)
(C) Only (1) and (i11) (D) None of the above

Which of the following provisions is/are not part of the Indian Independence Act, 19477

The Indian Independence Act of 1947 was based on the Mountbatten Plan.
The Act declared India an independent and sovereign state from August 15, 1947

The Act instituted the office of Governor General, who was to be appointed by the
British King.

The Act insisted that the Indian Princely states join the Dominion of India.
(A) Only 1) (B) Only (@ii1)
(C) Only @v) (D) Only @), (i11) and @(1v)

Which among the following were the important leaders of the Vaikom Satyagraha?

T.K. Madhavan
K.P. Kesava Menon
Mannathu Padmanabhan
Changanacherry Parameshwaran Pillai
C.V. Kunjiraman
(A)  Only (1), (i1) and (iii) (B) Only (1), (1), (iv) and (v)
(C) Only (1), (1i1), (iv) and (v) (D) All the above
-2-
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NedTeu(mLD HlasLpeyserlev eTg/eTemeu LssIIGLIT(HL6TT GGTLTLemLWwg)?

®
(i)
(111)
(iv)
V)

&L g6 semn6s0T Ol (H& 51y

ClUF6L AMMTTUT HTE(ES560

eNwLpmd Cumy

GrLGLT [NATO] 2 (peursaid

Byl 65fl8 rHT(H

(A) @), (11), (v) wLEO B) @, @), (v) wLED
(C) (@, (i1), (v) wLED (D) (@), (1), (iv) wLED

(PHITW &HLIgL &&Hen6v LM LNedTeU(HLD FammHerley erg)/eTensu Fiflwimesrg)?

@
(i1)
(111)

QNTESHTET soLICHLLT Fl&Iflullev CamienL susTTESmS HlmIe6sT.

QFmIGasrLenLuNsiT 2 WIFLOT6IT [HIENLPEUTUN6V L|sVIHE SITEUTET 6T60TM| HeMLPESSLILI(HSIMSI.
ClL6veSIuN6L 2 6iTer COMTE) OGS WOMTRILTT6L SLLLILILL I

A)  Cuhaamu oemesTgID

(B) (1), 1) wibwb

© (), (i) i

(D) Cupaamweummisy egleLslsvensy

NesTeu(HLD (PesTCeoTMUMLIg60 6TgI/6Temen @ bW &sHHTE FLLb, 1947 @6t e LGHWTS
@svemen?

@

@i1)
(i)
@iv)

1947 g1 gy evoTi960T @B W HHHETE FLLLD 06 6BTLCULLET S LH0SH BiigLiLIEnLITEES
Q& mesorLg).

@ FLLID &6l 15, 1947 1pgev @bHWTenel 6(h &SHS|TLOMEST LMHMILD &) 67 M UIT6ETIT6mLD
ClamesoL BITLTE SMeNSSHG!.

@@ FLLD fllges westeorymsy HlwbsslULaN(HHES sSeufeT) Glgerrey LgSallenw
Bimiesluig).

@@ FLLD @bHlw wereTrmldl, @nbHuw Coeorldl ors emmullsy Cay Geuestor(hib eresr
sueSluISEWIS).

A) (@) wliHwb (B) (1) wl @b

(©€)  @(v) wLEw D) @), GiD), (v) wLED

LN63T6U(HLIUT&6TTI60 WITT 606U S FHEWTHETHSHH6T (PSHSILIDTEST H6M6VEUTSHEITTE @) (HHSHEUTH

®
(i1)
(111)
(iv)
V)

lg9.G&. oM 66T

Ca&.19. Camag6u GLoesTsdT

LD60T60T & &)| LISLDBITLIEOT

griseTTEGFF LFGLoevealrest LeTenem

&.e. (& Ep&TmoesT

@) @, (), (i) wLEo B) @), (), (v), (v) wLED
©) (@), (i), (v), (v) wLED D)  GGev 2 6T6T SEMETSHHILD
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5. Which of these statements on the Russian Revolution is/are true?

()
(i)

(iii)

(iv)

The ‘Soviet’ was a body of workers’ representatives set upto conduct strikes.

The final goal of the Bolsheviks was not the establishment of socialism but the
establishment of a republic.

The first act of the Lenin government was the adoption of the Decree on Peace by
which Russia withdrew from the First World War at the cost of losing many of her
territories.

The Romanovs were the only dynasty to fall during the First World War.
(A) Only 1) and (11) (B) Only (1) and (111)
(C) Only (1) and (iv) (D) None of the above

6.  Which of these statements about the literary sources on Kerala History is not true?

(@)

(11)

(iii)

(iv)

Tuhfat-ul-Mujahideen, authored by Sheikh Zainuddin, deals with the Political
history of the Portuguese Period.

Kautilya’s Arthasastra is the earliest Sanskrit work which contains a reference
to Kerala.

The Guruvayur Temple records prove that Tipu Sultan ordered an annual grant to
the temple for the conduct of daily pujas.

Marco Polo and Nicolo Conti were Spanish Travelers who visited Quilon during the
14th century.

(A)  Only (1) and (iii) (B) Only (i1) and (iv)
(C) Only (@) and (iv) (D) Only (11) and (ii1)

7.  Which of the following statements about the Non-Cooperation Movement is/are correct?

@)
(i1)

(111)

(iv)

The Non-Cooperation movement was started by Gandhi on 15t August 1920.

Removal of untouchability among the Hindus and promotion of Hindu-Muslim
unity were part of the programs.

The goal of the Non-Cooperation movement was the attainment of self-government
through any means.

The Chauri Chaura incident led to the suspension of the Non-Cooperation

Movement.
(A) Only (1), (11) and (1v) (B) Only (11), i11) and (iv)
(C) Only (1), (111) and @iv) (D) All the above
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NesTeu(mLD Fagkwt YTLd) GMss QbsHs Famml/Fammserle 6T 2 e5uTenLowmeTs)?

®

(i)

(111)

(iv)

‘Crmewg’ eretTLg CouemnevfMISHShIGEN6T BLESIUSDETE HeMmEHILLL CGmevmery
&bl serflest emLoLILIm(ELD.

Gumevadlals@aseaflssr @mif @evsE CoreedllasHens HBimio|augs 6060, WLIMTSH §(H
GlWrens Him|6eUsm(&LD.

ClevesfletT HTeFMTRISESHS6T (PH6L FLLID HeMH Uen6stTenl FHMISOSTEBITLSI, @) 60T
ELP6VLD TEILWIT S6sT8 Liev LNTCHamiIsemnsm @& &0 allemevuiley (W&Hev 2 sl CuMFledS)(mba
afNevdlwig).

Lp&6v 2 euall Gumifler Curg) 651phe G sub&D CrmmCesrmsuen L (HGELD.
(A) @), (1) wiHd B) (), (ii1) LB
©) (@), Gv) wLpHw D) Cuosamweumnisy ergia|Blevsmey

Gaysm  eugsurm| (GMIHS @eVSEW  YHTIRIGMETL LUMHMBIL @HESHE FammisHeflsy g
2 _EEITEMLOWLIEV6L?

®

(i1)

(111)

(iv)

Conss enWen)H6eT TSI GlooliS-2 6v-(pRTamlHesr, GCUTTSHHIEFW &ML  HFEFlwev
6UTEVTDHENME NS WITETE DS

Caergsowiiflest SFSHHFTOVHTL  eTedTL | Capemmemeuls UMM  GmllenLgs GlamesorL
QLTDLISTEY FLOOVE(HSHLI LIEMLLILIT(GLD.

Gmeurwy Gsmullev uBleyssr, Sl &eogmer HleTefl LLenm&eneT HLESHUSDSTS
CamuNsy & @ 4,680T(HCHTMIWD Wwreslwb auwprs 2 S TelllLeng blemL9&a&lermeot.

wryGasr GumGsur wMMIDL HHECHETCT Tty PHCWTF 14 SyYIb  HTMHMDTESETIEL
BWICeuTen)|8 58 Cl&F6tTm 6rvLIM6sl6% Liiessil&eiT.

A) (@), (111) wL@b B) @), @v) wLpHo
(©) (@), @v) wL@Hwb D) (@), (11) wLHb

QR&SIMPWITENL @ wissD uHMIw LNesTeu(hHD Fanmi/Fanmiseiey g Fflwimerg)?

®
(i1)

(iii)

(v)

SThHH WML &6l 1, 1920 o460Tm)| 5SI6MPWITENL @ WSS CSHTLRISLILLLG].

@nhassaflenL G  SesTLmenwsnw  [HH@EHSH60 LOHMID  @HSI-(PeVedlDd  sMmIenLenW
GUHSEHISH6L U EWeneu S LEIS6I6T 6 LGS WIS @) (HbHS60T.

6TH& eUPIUNGY|D HFWTTRWSHNS HOLEUCS @SHSHIMPWITEND QuSHSHSH6 HDISCHTeTTS
AGIEEA

ClFemifl Q6T FOLGULD &5S5IMPWITENL @USSHESHMS QenLBINISHS eUh6UESHHEI.
A) (1), (1), (v) wLEb (B) @11, (i1), Av) wLEHb
(©) (), (111), (iv) LLEHWD (D) CwGev 2 66T SiEDETESILD
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8.  Which among the following is/are the aim of the UNO?

(i) To maintain international peace and security.

(1) To develop friendly relations among nations.

(i11)) To achieve international cooperation in solving international problems.

(iv) Promoting respect for human rights and fundamental freedoms.

(A)  Only (i), (i1) and (ii1)
(B) Only (i1), (iii) and (iv)
(C) Only (1), (111) and (iv)
(D) All the above
9.  Which of the following statements about the Socio-religious Reform Movement in Kerala

1s incorrect?

(A)

(B)
(©)
D)

The SNDP Yogam was formed in 1903 under the auspices of Sree Narayana
Guru.

The Sadhujana Paripalana Sabha was founded by Dr. Palpu in 1905.
The Yoga Kshema Sabha was founded in 1908.

The NSS was founded in 1914 by Mannathu Padmanabhan

10. Which of the following was/were the result of the Revolt of 18577

(1) The British Parliament passed the Better Government of India Act.

(1) The rule of the East India Company ended, and India was taken over by the
British Crown.

(111) 'The office of the Secretary of State for India was created.

(iv) Communal representation and diarchy were introduced.

(A)
(B)
©
D)

Only (1), (i1) and (iv)
Only (11), (111) and (iv)
Only (1), (i1) and (1i1)
All the above
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8.  etreumeussreummlev eTg/eTemeu 20.miT.e96dT CBHTEHSHLOM(EGHLW?

()  FTeuCss emwd HMID UTSHISTULL GLID)SH60.

(1) prEsefenLCw BLLmene eusTFLILG).

(111) sFeuCselr NTFHensrTaeners STULH FToUCHTF (28 5IeMLPLINL ML G6V.

(iv) weslg 2 flenwasT LHMID SYlILIEL FHHEHTHHMEHTET LHWTENSHEML 2618 G655 60.

(A)
(B)
(©
D)

@), (ii), (iii) wL @
(if), (iii), (iv) LLED
@), (iii), (iv) wLEW

GuMFamiL i6n6TSHSILD

9. Gayemmelsy &Fepss-08 FTH(HSS @WEHSLD LHMIW LNetTel(HLD FammI6rleh 6T Heummesrg)?

(A)
B)

©)
D)

SNDP Guirasib 1903 @6v urh mrymwiesst & hedler usTeNeh 2 (Heum&HeLILLLg|.

grglmesr  uflumevest semu 1905 <oyb  oyever(h) LT&ELI  LIT6UL  S6UTSH6ITT6Y
HmeulilCLg).

Cuire Caauo senu 1908 oy b oy 6vr(h) HlmieuLILILL &I

L6TerTS G| LISBTL6T 1914 9y 1b oy eser(h) NSSemw Hlmiesest.

10. Netreu(meuetToumNI6v 678/6Tem6u 1857 oy lb Sy 68oT(h BLBHS SHlemyalufssr eSlemsmoum(@Ld?

(1) 9OAlge LTFmEHLETOD FMHS @HSI HTFTHRISE FLLEMS HlenmGoummlwig).

(1) HsHpHu sL6UEALNT Wl d (YyaysE ubsg, @BHW NAlges LEGLESSTE
mBWsSLILMHSSLILILLE).

(111) @BHwTeNDHE&TET CIFWEVTETT HEVIEUEVSHLD 2 (HEUMSHSLILILLS).

(iv) euGLysuTs NTHHS &g6uD HMID QILenL o ld KM WasLILHSSILLLE.

(A)
(B)
(©
D)

(1), (11), (v) wL(HID
(11), (11), @v) wL(HWD
(1), (1), (111) wLEIW

GLG6v 2_6iT6IT BiEMEBTSHGHILD
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11. Which of the following statements best describes a critical limitation of topographic

maps in large-scale disaster management planning?

(A) They provide precise elevation details but may not account for real-time

changes in terrain due to natural disasters.

(B) They use standardized contour lines for elevation representation, making

them unsuitable for differentiating between urban and rural landscapes.

(C) Topographic maps offer extensive information on hydrological features but

fail to include data on man-made infrastructure.

(D) Since topographic maps are designed for static landform analysis, they cannot

be used for infrastructure planning in urban environments.

12. Which of the following scenarios best illustrates the interplay between climate and

geomorphic processes in shaping a landscape over geological timescales?

(A) A humid tropical region where rapid fluvial erosion dominates despite the

absence of significant weathering.

(B) A periglacial region where repeated freeze-thaw cycles contribute to mass

wasting and patterned ground formation.

(C) A desert environment where chemical weathering outpaces mechanical

weathering due to high temperatures and arid conditions.

(D) A coastal region experiencing continuous deposition despite rising sea levels

and increased storm activity.
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11. Quflu  oemellevmssr  GuifiLy Gevmesoreming  SILLOIL6OL  Hlevliugli  susmyLLMiIser 6T

(PE&HEWLDMET 6uFLDeMLI LN6TEU(HLD 6THS MSenas fmliums eNeuNeHmg)?

(A)

B)

©)

D)

SiemeU  HI6VEOIWIDTET 2 W  69leUTTAISEN6T  6ULPMIGHEITMET, ETTTEL  @UIMEns
GuiflLyssir smyewroms HleoliLTLNey UL HISWEHT LTMHMHIGEN6TE &65TS 60
T(H &S\ SmeTET T CLITSHEVITLD.

Siemeu 2 wrl  NrSbhlsseussnE sruubhissuucl  eleflby  GCasmbhaemerL
LweTUhSHIHlTmEST,  @SHETTL  emeu  BSFLULM  WMMID  Slymwliym
BlevLILITLIL & (EThE S @enLulley Coum|Li(hleugsm @l GILMHSHSLMMEensL.

HleolILrLiL euenFULBIGET BIblensy SDFRST GHMN&HS elifleumsr &HoHeusveHen6r
6ULPMIGEIGTMEIT, QLEBTTEY  LDETIIHETTTEL 2 (HEUTHSLILLL 2 6TaLLenwLL (GMNSHS
sreneus Carsss &eumlal (hdleTmerr.

13\ [V, T 6L TLIL BI85 6T rhlem6vWITesT Bleo Ly uGUUTLUeNMHETS
6U1L9 UMD SSHLILIL(HETETSHTEV, BHHFTLLM (FHP6u&H6I160 2 6TaHLLemliL SHILLLOIL6VISE

SleuMHenML LW6eTU(HISS (LPIgUITE).

12, yelluYwey smev oyemeysseifley go(m HlevliLFlienu sugauenblILS6y Smevblensy LMHMID LieNFmy

QFWI (PN M & (6THE (S, @evLuNevmer QGTLTenL L6tTeU(HLD 6THs STLE AmLiLITa efeme@GSmg)?

(A)

(B)

(©)

D)

GOILNLESsES eumesflensy @sveurg GuTHlsd eNlemgeursst BT NIl Y &Hl&s&0
ClEISSID FFLULSLOTET GleuLILILDESITL6VLI LIGE).

Besor(Id  BevoT(HID 2 6MMBEV-2 (HEGW  &PHFHEeT  Glumwerallsy  eevormel,
BUYEUENLSSLILILL H60T 2 (HeUTSHSSSIME LImiseT &G e m clufl&sTmdwey LG
SiFHs  Gleuliublensy LOMID  6uUMESSTL  [HleNEVEDLOSET  STF6EwTONS  @WIHST
suesflemevemt e Ceughluglwisv sumesfleney CoussLOME @) (HE (S LITEDEVEUETT (S5L06V.
HL6V LLBISGET 2 Wihgl Lwev GFweoumh HHsfles Curslaib GgmLysswimest

LIlg6) &606TT e8| LIeN &G SLECeVTTL LiGSH).
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13. Which of the following statements best explains how India’s geographical features

influence the monsoon climate?

(A) The Himalayas act as a barrier that prevents the southwest monsoon winds
from escaping northward, forcing them to shed moisture over the

subcontinent, while the Deccan Plateau has no role in monsoon distribution.

(B) The Western Ghats, Eastern Ghats, Himalayas and the Deccan Plateau
together influence monsoon rainfall patterns through orographic effects, wind
deflection and rain shadow formation, creating regional variations in

monsoon intensity.

(C) India’s peninsular shape has minimal influence on the monsoon, as the winds
are primarily controlled by global factors such as the El Nifio-Southern
Oscillation (ENSO) and the Intertropical Convergence Zone (ITCZ).

(D) The Thar Desert enhances monsoon strength by creating a high-pressure
system that attracts moisture-laden winds, ensuring uniform rainfall across

all parts of India.

14. Which of the following best explains the complex interplay of factors influencing the

variability and intensity of the Indian monsoon?

(A) The Indian monsoon is solely driven by the temperature contrast between

land and sea, with no impact from global climatic phenomena.

(B) The shifting Intertropical Convergence Zone (ITCZ), along with factors like
jet streams, orographic effects, and ENSO events, governs the seasonal

strength and distribution of monsoon rainfall.

(C) The southwest and northeast monsoons are independent systems with no

interconnection, operating purely based on regional wind patterns.

(D) Orographic barriers like the Western Ghats and the Himalayas only intensify

monsoon rainfall, without contributing to dry spells or regional disparities.

A -10-
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13. @mndHwmeller LealuNwey SDEMRISET LI(HEUEDL STevblenevenil sreusurm| UM &alesTment

eretTLIEN S LIl6tTeU(THLD FanmIseflev erg HmLiume eNerd@GEme?

(A)

(B)

(©)

D)

CzeTCLME LI(HeUenps STOHMI UL E ChresE CeusflCwumiaumss SHiSEWw (h
SHEOLIITS @OWILDen6 CFWeILIHIEMS], @SH65TT6V &6 65T E600TL &&\60T LB&| FFLILISLD
QeuelGwm Geusvorigwt &L LTWD gHUBE DS, HCH CHIsHHeL CL&Esmesr 1L
LI(HeULDEmLY LIT6U6O16D 6TTHSLI LIMIENSW|LD 6UHSEHTE).

CuH G CsTLTES Lenevs6T, &P&EHS CSTLIFH enVSET, @IDWILDEn WMHMILD
ClLssmerT 1SLLLLS Sy &lweneu Carhg| LI(HEULDENLY LDEMLD 61196UMmISen6NT seGrT&ITMoolls
(oemevufwsv) eNememey a6, BTHMET ON6VEHE LOMMILD DMLY HILPEV 2 (THEUTEESHLD PLPEVLD
urdls&leTmesr, @sesTmey  Lheuwsnly  HalrsHev  NpmhHw  wrmiumbHEssT
(b &lesTmeur.

o0 HICaTT-QsmE Siemevey (ENSO) wmmib GQeuliuwesTLey e (hiidenewriiL
wesorLevd (ITCZ) Gumestm 2 eugemmeNw &Tyewl&HeTTed HTHM| (PSHETEMOWITSHS
sLhHuubBssluheusmsy, @nbHwmeler Susmu elgelld LHeuwenpuilet g
GODHSLULE C1FL6UTEHEMNS O1F6ISSHIHMSI.

ST LTen6veUesTd FILUUSLD Hleombs sSTHenD FISHSH 2 W[ (WSS SenLienL
2 (IH6UITE (GH6EUSHEIT ELP6VLD LI(HEULenLY euedlenwenw HSH&fEHns, @& @bslwmeilsst
SiemeTsH G| LiGSHseflsnib Frmesr wenpliClumblenst 2 mid Gl&wHme!.

14. @nHw umeuwsnpuisst wrMUTH WLOHMID HNTHME UTH &G smyessilseflsr Faasevmsst

@\enLE6IFHEBem6v LN6ITEU(HLD 6THG SN &Hemas HMLILTs eNlers@&HE Mg ?

(A)

(B)

(©)

D)

@pHu  umeubeny HlewsHMEGL HELGEGL  @enLullevrmest  GleuliLiblemsy
GeoumiumiLmsy WL HGWL @QuissLLbBSIDG, 2 svssTTall SHTevblensy Hl&LpeyserfleoT
SMTHSHLD 67560 @)6V6m6V.

QL BCyTemLa6T, CrTEITTeelis allenera|smser wHmIb ENSO fispessr Gumsitm
sryeseflaEhLeT  WwTMleu@hd  GleuliLiwenTLey  g(hhiflenswriiL wesorLevd (ITCZ)
LI(HeULDE®m LPUNGBT LI(THEUSTEV 6U60l6nLd LbMHMILD LIFeusmev HlFeushlsSIms).

Clg6TGLM(E LMMID EULEILNEE LI(HEULEDLSET, ¢60TGMMGILTETM| ©)6metarassLILILITS
SWTHT SOOLILSETTGW, Sjemeu  NFTHSHW &THm|  eugeumissnsT WL (HGW
SlglILImLWITES 68 mesor(h @) Wihi(g,& 65T M 6oT.

CuH &S CBTLTFH eneuseT HMID @Wwwiensy CureTm RGrT&ITToIEs &HemL 6T
6UMETOTL.  SHITEVMRIGET H6V6VG| LNFThHHW  FHMSSHTDSHEHEE LIkIS6 &SSO
L(peuenpenw WL (HGWL SeNrliL(hs g & eTmenr.

-11-
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15. Which of the following statements best explains the multifaceted impact of the Palakkad
Gap on regional climate and human activities?

(A) It prevents the penetration of the southwest monsoon winds into Tamil Nadu,

leading to arid conditions in the region.

(B) It serves as a biodiversity barrier, limiting the movement of flora and fauna

between the Western Ghats and the Deccan Plateau.

(C) It acts as a climatic gateway, allowing moisture-laden winds to influence

rainfall patterns while also shaping economic and historical connectivity.

(D) It is primarily significant for transportation, with minimal influence on

climate and biodiversity in the Western Ghats.

16. Which one of the following concept is also known as National Income?
(A) Gross Domestic Product (GDP)
(B) Gross National Product (GNP)
(C) Net National Product (NNP) at Factor Cost

(D) Personal Income (PI)

17. Which Five-Year Plan aimed at achieving ‘Garibi Hatao’ (Eradication of Poverty)?
(A) Third Five-Year Plan
(B) Fourth Five-Year Plan
(C) Sixth Five-Year Plan

(D) Fifth Five-Year Plan
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15. umevsasrh @enLGleuaflullest KTTHEIW STevblemey LHMID 6sTlEH HLEYSHMSESETI6L gmL(HID

LIGT(P& HTEHHSHmS LN6TeU(HLD MEens a6 61g HiMLiLms efers &S mg?

(A)

(B)

©)

D)

851 CBTCLHEG LGaIMPS STHDI SEPBTLYHEET 2ablBaymSs 5HEE DS,
@setmeL LNTTHE WSS 60 6UMEBITL [Hl606V6MLDE (6THE (G 6ULHl6U(HSSIMS)!.

@&l @@ ULUINT HenLWTsS GlFweLHISmS, ComEGs CSTLIFH 6n6vsEThHSE)WD
CLesmer  ILUBl&EEGL  @enLulley  smeugmgst wMMID  afevridlesThigerlest

QUESHm5E L HLUGSSHIE DS

@&l @ sreblensy Hienwsuruieurs GClFwsvLbHE MG, FFUUSLD Hlemmbs STHM)
LDEMLD 6UIGEUMISENET LTH &S DI ESH DS, HCH CHrHHev CIUMHETTSTT MMILD
6UTEVTM M| @) 6METTTLIEHLIL|LD 6UIg6UEMLDESI DG

@& (pseTeLWTE CUTEHEGMTSHSISE WaSwwrerg, GComEs OCsTLisd
emeu&efley  smevblemsy  WMMID  UIUIT  CQUHESSSH  (GEODHSLLE

ClEF6LEUTE (&)L 6T 2_6T6TE)].

16. NetTeu(mHLD 6THSHS &(HSHSE CHFW 6U(HLOMELTLD 6TETMID HeMmP&HLILI(HEMGI?

(A)
(B)
(©)
D)

Cwrss 2 6TErihH 2 nuss (GDP)
Qwrsg CesAw 2 HusH (GNP)
sy QFevalsy Hlar CaHlw 2 musH (NNP)

sesiipui eupLomestd (PI)

17. ‘s anLrCeur’ (eumienwenw Lflgs60) erearLemng ChTHHWLTES Cl&HTesTL BHETENT(H& HILLLD

o551
(A)
B)
(©)

D)

PO SHSTET (Bl HILLLD
BT6OT&HTEUS| H&TesoT(hH SHILLLD
DTS BHSTETHS SHLLLD

BWHSTEUG| BHSTEEET(HS SILLLD
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18.

19.

20.

Which of the following statements is true about the composition of NITI Aayog?
(1) The Prime Minister of India is the Chairman of NITI Aayog.

(1) NITI Aayog has a fixed five-year tenure like the Planning Commission.

(111) The governing body of NITIT Aayog includes the Chief Ministers of all states.

(iv) NITI Aayog is an autonomous constitutional body.

(A)
(©)

Only (i) (B) Only (i) and (iii)
Only (i), (iii) and (iv) (D) Only (iii) and (iv)

Identify the correct statement regarding tax and non-tax revenue:

(1) Tax revenue is collected from both individuals and businesses, while non-tax

revenue is collected only from businesses.

(1) Tax revenue is collected by imposing compulsory levies, while non-tax revenue

comes from government services, fees and investments.

(111) Both tax and non-tax revenue are compulsory payments to the government.

(iv) Non-tax revenue includes penalties and fines, but not interest receipts.

(A)
(B)
(©
D)

Only (1)

Only (i1)

Only (11) and (iv)
Only (i), (i1) and (iv)

Which of the following statements correctly differentiates Revenue Deficit and Fiscal

Deficit?

(A)

(B)

(©

D)

Revenue deficit occurs when revenue receipts are less than revenue
expenditure, whereas fiscal deficit represents the excess of total expenditure

over total revenue, excluding borrowings.

Revenue deficit refers to the difference between total revenue and total
expenditure, while fiscal deficit is only related to tax collections excluding

public borrowings.

Revenue deficit includes capital expenditures excluding borrowings, while

fiscal deficit includes revenue and capital expenditures.

Revenue deficit is the difference between revenue receipts and revenue
expenditure, whereas fiscal deficit represents the excess of total expenditure

over total revenue, including borrowings.
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NITI o, Cuimrs et SiemwliL GmISs LetTeu(HLd FammIs6rflev 6T 2 66aTenLoWmeT ) ?
O @pHwul Ngswi NITI o Cwrssler sensvsur.

1) &Hirs @Gueweulds GumewGesu NITI CursEb Hemeowner  wmba  oesor(H
LSNSHTEVGMHS Cl&TessT (h6iTems.

(1) NITI g CursHer HlFourss @WeNey SHeDeTSHE LOMHEVRISETET (LP&HEVENLOFEFT S ETHLD
S|LMBI(G6UT.

@iv) NITI o,Cwims g HetTerTL ) iFflwsvenioliL] emioLiL.
A) (1) wiEo
(B) (1) wHmib (iil) L HID
(C) (@, (ii1) womid (iv) wLEHID
(D) (i1) wHmIb (1v) WLHID

eurfl LoMMILD 6UIf]l H6LEVITS EU(HEUMTIL CISTLTLITET FfWITET FaMenMm EMLWITETLD STETTELD :

(1) selipurser HMID eusstllamissT @reryLbl(HBEID eulfl sumeuTl CaaiflsaslubhlEng,
31Gg swWID 6uIfl 346L6VTS eU(HEUTIL eusstilBRISET 0 (HHSI WLHIGW CasflsslubhiSng.

(1) sLLmw suflsensr eN&lLG6T epsuld eulfl euheuTll CaaflsasluhEngl, 6 FowD euifl
SIVEVTE  EUHEUTL HTFMRIGE CFeneuseT, SLLeswTmigsT LOHMID (WHeSH&6red) ([hHHa

UGEDSI.

(111) eurfl OHMIL eurfl SiLEVTE EU(HEUML @FetT(HID HTFTRISSHDE SLLTW Q& T(HILILI6TE 6T
QLS.

(1v) eurfl 6LEVTE EU(HEUTUINEY SLTTSHIGET LMHMID HETLHOHTENS LI(EGHLD, 60TT60 ULl
TEHISH6T 6060.

4) (1) wipwo

(B) (i1) wL@w

(C) (@11) wHmid (1v) WL (HID
@ (), (i) wbpud (iv) wGid

NesToU(HLD 6THS FammIHerfley eUHEUTL LUHMTSEGmM WwHMID HEH LuMDTEGmmenw Fflwms
CoumiuBH&sLILEEDE?
(A)  eumeurls eureyssT eumeuTW GFevellaTgems oL  (Gemmeurs  @)\(HeEGWweELTs)
SU(HEUT LMOT&HEGMD FOUBIEDSI, HCEH FoWwD BHIH LMMTEEGHMM SHL6ITEHEN6ITS
5765, Clwrss eumeursnw aflL Clbrss ClFsvalersdleT HlaLILigulmest
S6Ten6US GMHSIMG!.
(B) eumeur upmTHGSNM eTetTLG| GlITHS eUHEUTLSEGD ClwTsHs GlFevalesTsHS M EL0
@enLuNsumest CoumLITLenLE (HMI&HSMSI, HCH Fowd HIE LUMHDTHEEOMD TeTLS
CQuUTg18 sLeTEm6TS SailTSH5 6Uif] 6UEaIL6T L (HGWL CISTLILenLWSI.
(O) esumeurls uUPOTEHGMD SLETHMETSH HNTHG PSS  CF6VS6UTMhIGEN 6T
o eTemL&E WG, HCH LWL BHIH UDOTEEGHD 6UHEUTL LMMID  FLPEVSHESTE
ClEevelEBTRISENET 2 6TEmL &SI
D) eumeurs  UDOTHGEM  ETETUG  GUREUM  6UTEYSHEHSBEGWD  eUHEUTL
CesvalleTmisEheEGL  @enLulleomsr  aNsHwrsLmEGn, HCs Fowbd B
LUMDOTSGHeNMm  6T60TLIS|  SLET&HET 2 LUl 6lbrss euHeurenw el Clbrss
ClFeuaN6TSH S 60T S SLILIGUITEST H6TeM6US (HMIEH MG
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21.

22,

The National e-Governance Plan (NeGP) is an initiative of the Government of India to
make all government services available to the citizens of India via electronic media.

NeGP was formulated by the following departments:
(1)  Electronics and Information Technology
(1) Department of Administrative Reforms and Public Grievances
(111) Central e-Governance Department
(iv) Office of the Information Technology of India
(A)  Only ()
(B) Only (1) and (i1)
(C) Only (i11)

(D) All of the above

Under section 24 of the Right to Information (RTI) Act, the Government of Kerala has
exempted certain organizations from the Act’s purview. But the following circumstances

they are responsible to provide the information :
(1) Policing
(11) Corruption
(i11) Human Rights Violations
(iv) Honour Killings
(A)  Only ()
(B) Only (1) and (ii1)
(C) Only (111)

(D) All of the above
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Capalw Wer-oyEmenws SHILLd (NeGP) erettug @QnhHu GYLESHEHSHE HMBTEH HT

GCreneusHeneTWD LEl6ITEITem)| 2EMLSHBISET P6VLD HlenL&HeHE GlFIUSDEHTET @IbHHIW HTF6T (M

west wwohAwmEw. NeGP Netreu(mb glenmasmmey 2 (HeursslulLg)

()
(11)
(111)
(iv)

L) 6tT6BTETm 691 W16V LOMMILD &8H616V Gl TLH6VMHILLILD

Bieurs FTEGSShISET LHDID CLTS GDEDETS STULSDHETET Si6nD
LSS LOI6IT- S (ETEML0S Hl6mM

@hHIW 556160 GG TLHEVRILL SE)|6U6VSLD

@) () e

(B) (@) wmmib (i1) wiL @b

(C) (iil) wL (@

(D) Cuphaamiu oemesTs gD

&&6u60 ML 2 fleows FlLgHer (RTI) Nifley 24 @letr &1, Cayem SiTa lev SIeMLOLIL|SEHE S

FLLSS 6T eurbLIeN(HHS aNlevs & H6SHGI6TeTSHI. 68TV LN6dTeU(HLD (G5LDHlen6vas6Ilen i6uT&H6iT
SHEHEUEVHEN6IT 6LLPMHIS GILITMILILITEUTTSH6IT :

@
(i1)
(i)
@iv)

&ITeuey Liewsf]

26TIp6V

wesflg 2 flemiw WmevaeT
Q&6myeus C&HTemeVs6T L (HILD
A) @) wipHo

(B) (i) wpmud (iii)

(C) (iii) wL(@HW

(D) Cuhaamlu oemesTs gD
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23. Which of the following statements are/is true to Anti-Defection Law?
(1) Added to the Constitution in 1985
(1) 52 Amendment Act
(111) Inserted in the 10t Schedule
(A)  Only ()
(B) Only (1) and (i1)
(C) Only (i11)
(D) All of the above

24. The four basis of departmentalisation is popularly known as “4Ps”, they are
(i)  Purpose
(i1) Promotion
(111) Process
(iv) Persons and Place
(A)  Only @)
(B) Only (iii)
(C) Only (1), (i11) and (@v)
(D) All of the above

25. The Human Rights Day 2024 theme is

(1)  “Our Rights, Our Future, Right Now”

(11) “Freedom, Equality and Justice for All”

(1i1) “Dignity, Freedom and Justice for All”

(iv) “EQUALITY — Reducing inequalities, advancing human rights”
(A)  Only ()
(B) Only (1)
(C) Only (i11)
(D)  Only (iv)
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23.  etreunld Fammiseiflev 6T Teneu SLHG SHTeU6 HEOLEF FLLSHM (E 2 68TenLOWIT6sTS]?
@) 1985 @6v sipflwsvenoliNey CarsaliulLg).
(1) 52eug H(HHHE FLLLD.
(111) 106ugy Sl LeuenssTuNey CaFaHesILLLE|.
A) (1) wipo
B) (i) wbud (i) wi Gid
(C) (i) wL@wb
(D) Cuphaamlu oemesTHgID
24. HMDLWILTESET Be (@ SgliLenLgsT LNgusuwrs “4Ps” eretm oienLpsesliubdlermerr,
366U
1) Crrssb
(1) uzel 2 wiey
(1)) GEwevwenm
(Iv) mUFseT LHMID GLLD
@) ) wiEn
(B) (iii) wl@w
(C) (@), (1i1) woHmb (iv) WLEHIWD
(D) Cuohaamwu SieneTHSID

25. wesflg 2 flemwser SHleotd 2024 @\e6tr &(HLICILIT(H6IT

1)  “pgl 2 Nemwaer, Bg r&lFsTeud, @UCuTCs”

(i) “simeTEIBSGD HBHHATID, FSHHIEID LHMID BH”

(1) “oiemerTeu(HE G SHevtTERIWID, &HSHHHTLD LHMID HH”

iv) “FwsHgIeUD - FHMSSHTLPEHENETS HMM &S, el 2 flengemer GLLLI(H&EI5H60”
(A) (@) wilw
(B) (i) wLED
(C) (iil) LW
(D) (@iv) wLED

A -19-
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26.

27.

28.

29.

30.

Identify the State/s where 73" Amendment Act does not apply, normally
(i) Nagaland
(1) Mizoram
(111) Jammu and Kashmir
(iv) Meghalaya
(A) (1) and (i1)
B) (1), (11) and (iv)
(C) (11) and (ii1)
D) @), (1), (1i1) and (iv)

The Constitution of India was adopted and enacted and came into force on
(A) August 15, 1947/January 26, 1949
(B) August 15, 1947/January 26, 1950
(C) November 26, 1949/January 26, 1950
(D) November 26, 1949/November 26, 1950

President’s rule can be imposed in a state on account of the failure of constitutional
machinery under -

(A) Article 352
(B) Article 356
(C) Article 360
(D) Article 368

The amendment to Indian Constitution known as Mini Revision was
(A) 24*» Amendment
(B) 25" Amendment
(C) 42 Amendment
(D) 44* Amendment

Article 17 of the Indian Constitution is related to
(A) Abolition of Untouchability
(B) Right to Equal Opportunity
(C) Abolition of Titles

(D) Right against Exploitation
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27.

28.

29.

30.
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736ug| H(HSH5E FLLID QUTGIEUTSL GILIMT(HHSTS OMHIEVLD/LDTHIEVMHISENEIT S EBLITEITLD STETT6LLD.
1) mreTeTHS
(i) WOGCesmyd

(111) W WOHMID STeby

(iv) Gusmeowir

(A)
(B)
(©
D)

(1) wooib (i)

(®), (1) womibd (1v)

(i) b (iii)

®, (1), (111) wHoId (1v)

@hSHW HrFlevenolil] gmmiselsmeTarLil(h wmHmIb @uMHDLILIL(H), SLD6YISE UbhSS

(A)
(B)
(©
D)

&6l 15, 1947 /mesteurfl 26, 1949
&6l 15, 1947 /eoesteurfl 26, 1950
meubuy 26, 1949/eesreurfl 26, 1950
meubuy 26, 1949/meubuiy 26, 1950

Sirflwevenoliy Q@QubSrn CaHmevelwenLbSHSTL (F WIHleVSSH e meTmHludb QL&

(A)
(B)
(©)
D)

60T £1p NS LILIL6VTLD.
Nifley 352
Nifley 356
9Nrfle) 360
Nifley 368

@& rFlwsveniolitiey lesfl fleNlGagssr eTedTm| HemLP&SLILIHID SH(HSSLD

(A)
(B)
©)
D)

24615) Hl(HHHLD
25618 H(HSHSLD
42618) H(HSSLD
44618 H([HSHSLD

@nHW HrFwevsnliest Nifley 17 GHTLILenLWIS]

(A)
(B)
©)
D)

SevorLITenLD LI
FL0 UMl &&mesT 2 Ifl6nLo
UL LMISED6T 61618860

GT6EBOTL6V| & () TS TTenT 2 [fl6mLd
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31.

32.

33.

34.

35.

36.

37.

“Mattuvin chattangale swaya, mallengkil
Mattumathukalee ningalethan” -
These are the lines from which work of Kumaranasan?
(A) Duravastha (B) Karuna
(C) Chandalabhikshuki (D) Veenapoovu

The place “Kadammanitta” is famous for which ritual art?
(A) Theyyam (B) Pooram
(C) Patayani (D) Garudanthookkam

Who was the Renaissance leader who started the Community organization “Samathwa

Samajam” in connection with the Kerala renaissance?
(A) Chattampi Swamikal (B) Vagbhatanandan
(C) Thykkaattu Ayyavu (D) Ayya Vykundta Swaamikal

Sri. P.J. Antony was the first Malayalam film actor to win the National Award for Best
Actor. Which is the film?

(A) Piravi (B) Ponthanmata
(C) Nirmalyam (D) Neythukaran

Which contemporary Malayalam Novel features ‘Amba’ as the central character?
(A) Samudrashila (B) Ula
(C) Arachar (D) Ningal

Where is the first Muslim Mosque in India, “Cheraman Juma Masjid”, located?
(A) Beemappalli (B) Kodungallur
(C) Malappuram (D) Calicut

“Bhayakoutilya lobhangal

Valarkkilloru naatine” - Which Malayalam daily newspaper has raised the slogan?
(A) Deshabhimani (B) Mathrubhoomi
(C) Kesari (D) Swadeshabhimani
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31.

32.

33.

34.

35.

36.

37.

056/2025-T

“Lom(HleNetT FLL Mg Ger stueumwim, LeVGev ki sy

oIl (HrgsCer BrisCagmer - @b euflaer @ reTTaeier ebhsLl LIenLLIL&HE&TeTensu?
A)  sireuevgm B) smevorT
(C) epsTeLNFaEH (D) eSevwrriyey

“sLIWeLLT 6h FLMIE HemevdE, NTL6VLTeT @)LLD?

(C)  wurLwrresf D) sELBaTSSD

Cayem MIWeVFFH QBTLIUTS “FoGHeu FLMWD 66T Fps Senwlienusd CSHTLmISIW
LMILEVTEFF G SHemeveu [ Wimy?
(A) gL HFeumblaser (B) eumsusmetTHS 6T

(C) evgsaTL({H S WwTey D) s eneuGeteTL SreumLdlseT

fAobs BusmeEsTear Casflu eNmensl UOM (WPHL WeneLVWTeTs SHlemTLULL  [Hles)
Lf 19.Cen. oy 680TL 65l Sy 6urTy. 6Thg LILLD?
A) pen B) QumbsetToTET

(C) BHywmeowid D) QOpwgsTetT

6T[H& FLOGITEV LDEMEVIIITEIT [BITEUED ‘SLDLIT 6M6U 6MLOWIS SHTUTSHTLOMSHE 6\& Teser(h6eme)?
A)  swsHrdeor B) e
©) owssi D) Hriased

@ bHWTaN6T P&V (P6eTVESLD ESIWITEST “CFILOMedT gDy, L6VES)G” 6TThi(E6Terg)?
(A)  Swrlusitef B) QsmTHrssITT
(C)  wevliyyw D) Camhatsmp

“LwssTIgeL W CeVMLITIGETT

eUETTSEHTO\TT(H BTy CerT - 6T & Lemevwmer Hlestifl breN&LD (P& eTpLiNu|siemg)?
A) Czemiwmesf B) wvrEHEHUW
(C) GCaem D) &Csemiwmesh
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38. In which year the Olympic Oath was taken for first time?
(A) 1920 B) 1944
(C) 1936 (D) 1928

39. The term ‘Libero’ is associated with which game?
(A) Basketball
(B) Rugby
(C) Volleyball
(D) Ice Hockey

40. Which is the National game of Bangladesh?
(A) Cricket (B) Football
(C) Kho-Kho (D) Kabaddi

41. Which of the following is not a Spreadsheet Software?
(1) LibreOffice Calc
(1) Microsoft Excel
(111) Apple Numbers
(iv) Google Sheets
(A)  Only (1) and (iii)
(B) Only (11) and (iv)
(C) Only (3), (111) and @v)
(D) None of the above

42. The secondary storage device, namely, hard disk is a
(A) Magnetic Storage Device
(B) Optical Storage Device
(C) Flash Memory Device

(D) None of the above
A -24-



38. 6THS UETITIE6L (PH6V (PENMIITES 601DLNE 2 MK G THlSsLILLLS?
A) 1920 (B) 1944
(C) 1936 (D) 1928

39. ‘eOuCym eretTm LS 6THS eNemETWITL(HL6TT GG TLTLjenLWIg)?
A)  saeLLUBE
B) g
(C) evwsLUBE)

(D)  m6v anrsE

40. ursTerCaadler CoHFlw alensTwimi(h) erg?
(A) HN&ECsL B) smeoumBE
(C) GCam-Gamr D) suw

41. Nesreu(meusTTEUMMIEL 678 ENASHT6T CLOESTEILIT(HST 60607
1)  ONICT N6 BHTELE
(1) emwHECFTEFTLIL eTHEF6
(111) & LI9NeT eTesOTE 6T
iv) sadler meTEeT
A) @) womd (i1i) WL (Hb
B) (@11) wHmid (iv) wL(Hb
(©) (), (i) wHmib (iv) wLEID

(D) Cumaamweummisy ergleLslsveney

42. @ yesorLmid Hlemev CHLILILIS FTHEITLD, HSTEUGI, UDTT(H) 196008 6T6ITLIS)
A)  srpg CFUILL FTH6TLD
B) oligsev Cailliy FrgeuTd
(C) ol Nemmeig (HlemerTous FTE&H6sTLD
(D) Cupaamweummisy egleLslsvensy
A -25-
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43. Which of the following platform is/are used for video conferencing?

(1)  Microsoft Teams

(1) Google Meet

(i11)) Zoom

(iv) Google Cloud
(A) Only 1), (111) and (iv)
(B) Only (1), (i1) and (111)
(C) Only (11), (i11) and (iv)
(D) Only ), (11) and (iv)

44. Online harassment most accurately comes under
(A) Phishing
(B) Spamming
(C) Cyberbullying
(D) Hacking

45. Which of the following are true about LAN and WAN?
(1) WAN covers more area than LAN
(1) LAN is faster than WAN
(111) WAN is cheaper than LAN

(iv) LAN stands for Large Area Network
(A)  Only () and (i1)
(B) Only (i1) and (iii)
(C) Only (ii1) and (iv)
(D) Only (1) and (@iv)
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SesTeumib SeThisafe a5 /arameu 6l QT STETUTETARSHEL LLGTLOSSILGHDS?
()  eoWHECTTETIL s
(i)  sader sHAIL
(ili) egOW
(iv) sabeT Hemayl
A) (i), (iii) wHmib (iv) LA
B) (i), (ii) wiHmb (iii) oL Gib
(C) (i), (iii) wmhmib (iv) 1L Gid
D) @), (1) wHoib (v) LLEHD

S,65T6M6V6ST A MTTENVGILD6DTL L& 6LD &I6V6NWILDTES @SV au(HEIME) :
Q) Safm
B) envGuibim
(C) em&ur BlylLey

(D) Gamss

LAN womito WAN umm) 1NetTeu(meussteum ey 6Tg| 2 65uTemLowimesrg|?
(1) WAN, LAN g eflL o8l LpliLiemensu 2 6TemLS&ILg)
(1) LAN, WAN g eflL Geussomestg)
(i) LAN g a9 WAN weSleurerrg
(iv) LAN eretrug) Quiflw upliy suemevweniolienLis @Gml&Hme)
(A) () wpmub (ii) i Gid
(B) (i) wmHmib (iil) L (HID
(C) (1) woHmib (iv) WL HID

D) () wHmd (iv) i Hid
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46. Choose the correct statement/statements with respect to the National Space Day

celebration of India:
(1) It is celebrated on 234 August of every year

(11) “Touching Lives while Touching the Moon : India’s Space Saga” is the theme for
National Space Day 2025

(111) It commemorates the successful landing of Chandrayaan-3 on the Moon
(iv) It was announced to celebrate the successful Mars Orbiter Mission

(v) It builds greater awareness and enthusiasm among citizens about India’s space

journey

(A) All the statements are correct
(B) Only (1), (111) and (v) are correct
(C) Only (111) is correct

(D) Only (11) and (i11) are correct

47. Newton’s law of universal gravitation states that every particle attracts every other

particle in the universe with a force,

m, m
—qlum,y
F=G™

Here ‘G’ and 7’ are respectively

(A) Newtonian constant of gravitation (6.674 x 10! m3.kg'l.s2) and distance

between the centres of masses
(B) Acceleration due to gravity, 9.8 ms2 and the distance between the particles
(C) Gravitation constant (6.674 x 1011 m3.kg1.s2) and the radius of the particle

(D) Acceleration due to gravity, 9.8 ms—2 and the product of radii of the particles
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46. @nHwuralerr Casflw  elleorCleuefl  Hleor QaemesoTLmTLLLD  QgmLjumest  giflwmest

Famm/FaDmISs5e06Ts CoHT6ay ClFWILaLD :

D) @& @subleumm eveT(HID sV 23 edTmI ClamessTLmLLLHIH DS

(1) “sndHremers QsTHLEUTE 2 ufsameTs CsTHG: @bHwrealssr eNesor6leusl Fram”
sTeoTLIg| CoHE W elesorCleust] fleorid 2025-g&mest & (hHLIGILIT(H6T

(1) @s FhHTwres-3 FnHEresilev Qeunmlarmes HenFulphidluens HleneTadaFHng|

iv) @& Qeupmagomesr QFsueumi &rs &SOHMILUTEDS UWSTSHMSS 6&TeuTLTL
SiMleN&sLILLLS)

V) @z @nhHwurefsr elNewrCeusfll Lwewtd (GM&SH  (GuywEseNleLCw o Hs
ANPILIL6TTT D6 LD 2 HEFTEHSMSHUILD 2 (HEUTEHSI DG
A)  simeTsHa FanmisEHD FlWwmeaTensy
B) @), (i) wHmib (v) LLHGCW FflwTesTeneu
(C) (i11) wLHECw FHwTesTEN 6L

(D) (11) womb (1i1) LLHCW FlwTeTen6w

47. hlylLefler 2 evsermallw FLL eNd), epeubleum(m &8 EHD LKNFLIEREFSHH 6L 2 6T6I epeubleum(F LmM
HISHEOETWLD 6(Th F&HSU|L6ST FTSHEI6TM6IT 6T60TM)| FaMISIM G,

m,m
— M my
F=G™

@mits ‘G’ LHMID 7’ (WPemmGW
A)  Byliesfle Fyoy wmmed) (6.674 x 10-11 m3.kg1.s72) woHmib Hlemm enLoWInIS EThHs (S,
@enLuNeumest T
B) mruy eNenswmsy gHUBEL WHE&SWD, 9.8 ms? MHMID FIH6TEHEHEHSE @emLulevmsst

&L
(©) mruy eNema wrmled (6.674 x 10-11 m3.kg1.572) ommIb Giserfledr oy, TLd

D) rmrOy efNemswmsy gHUBHD WHSSW, 9.8 ms? LOHMID FiH6TeH6 6T o Tmhige6lesT

ClumEE6L
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48. Pick the correct statement/s with respect to Global Warming Potential (GWP) :
(1) Refers to the quantity of heat trapped by a greenhouse gas in the atmosphere

compared to carbon dioxide.
(1) GWP of a gas depends on its radiative efficiency only
(111) Methane is the gas used as reference to calculate the GWP
(iv) GWP is often calculated over a 100-year period

(v)  GWP concept is used to balance the ecosystem exchanges of multiple greenhouse

gases and for developing strategies to reduce greenhouse gas emissions
(A) All the statements are correct

(B) Only (11) and (i11) are correct

(C) Only (1), (iv) and (v) are correct

(D) Only (1), (111) and (v) are correct

49. Identify the correct groupings based on the announcement regarding IUPAC Top Ten

Technologies in Chemistry 2024
(A) Active adsorption, Aptamers, MXenes, Triboelectric nanogenerators

(B) Artificial muscles, Aptamers, Photocatalytic hydrogen, Triboelectric

nanogenerators
(C) Active adsorption, Aerogels, MXenes, Sodium-ion battery

(D) Aerogels, Nanozymes, Sodium-ion battery, Solar fuels

50. In 2016, four new elements were added to the modern periodic table, thus completing the
seventh period of the periodic table. Choose the odd one among the below elements that

does not belong to the list of newly added elements :
(A) Moscovium (B) Tennessine

(C) Oganesson (D) Livermorium
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Hel QeuliuwenLg6v Hlmett (GWP) GQgmLjumest sflwmer sapmi/Fanmisssner Coiey ClEuwiwey :

(1)  smyuett oL Y HMFHL6T RULNHILEUTE] 6usfIETITLEVESSH6V (I LIGEmLD @606V EUTL|EUTEY

Nig&sLL{HID GleuLILSSH6T SeTeneus GMISSEIMGI.

i) e eumyeiNest GWP oiz6tr sgljeisea: ClawesvHlmensst LLHIGCL FTTHSI6TeTS].

(ii1)) GWP 8 senrsdHHeusm s, BeCa6T eb GMILLTaL LwesTUH&SLILIHILD 6UML St ELwW.

(iv) GWP Quepwureib 100 oy,6507(H STevHH D E Siigdhsly HeTshEILLILHSIDE.

v) GWP smss us Hifsrameyen eumuyssefler &HMIFEQ  UflmHmhigensT

gwpleneoliLheseabd  Sifsranmeajen eumy 2 Wlpemeus (GMDULSNHSTET 2 5HeHen6r
2 (HEUME&6 LD LWeTU(HISSLILIHIE DS

(A)
(B)

©)
D)

SHEMETTH S| HM &6 8 8 (6THLD FIflWITEsTEm 6L
(11) wHmIb (111) L HIGWL FflwTesTensu
(1), @v) LHMID (V) LHGW FfwTesTeN6L

(11), (111) mmb (v) LLHGW FflwTesTensy

Caugluweyv 202460 IUPAC wsev usHgs Gsmfleomumissr QarLgumest  njlefligesr

SlgLILIML UV FFIWITETT (8(LDEEEM6T 6DILIITEITLD SITE5T6LD.

(A)

(B)

(©)
D)

GlFwedlsv 2 Ml(Eh&r&6v, S LIGLLDTS6T, ETLOF 6BT 6T, LengGumereusLifls
BTGt esTGriLj&s6iT
Qewumens  smeseT,  YUCLWLIHET,  oCUTLCLTCHLSIYWS — emamLresbr,

LeongGumeteusLifle BTCeTmGleesTGrLLjase6T
ClFwedlev 2 MEparaH6v, JCTTOI6VS6IT, 6TIDE 63T8s 61T, G&FMigILID-SfwiesT GLILLIf]

germelmev&6T, ETCaTTengbassT, Camiguwib-Swesr GULLIS, @ Aw erflelummeTasiT

2016 <oyb sy evoTigey, meSest Hesflo L Leuenesoruilev BTesT(E LSl SHevflomigsT CaFyaasLlilLer,

@s6TmeL Hesfllo L LeuenesoTullesT LPToUG| STVSELLD Hlenmeymmgl. UsHlers CaisslinlL

seoflbmseaflesr  Ulipwiedley Cegmg L6 26ter  Hevllomseaflsy  (PreseTTesT  cRETEOMS

CaTHeIsOSsa LD :
(A) wmevGasmawid (B) QuLettesTleT
(O) gateargsr D) eNeurGumrlwiib
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51. Helen is 41 years old and her daughter is 9 years old. How many years from now will

Helen be three times as old as her daughter?

@A 3 B) 5

© 7 D)y 9

52. In a Mathematics examination, the pass percentage was 87.5%. If 7 students failed, how

many students appeared for the exam?

(A) 48 (B) 56

(C) 46 (D) 54

53. A group of 5 men or 12 women can complete a particular task in 78 days. How long will

it take for 5 men and 12 women working together to finish the same task?

A) 44 B) 39

() 36 (D) None of these

54. The fifth term and the eighth term of a geometric progression are 27 and 729

respectively. What is its 11t term?

(A) 19683 (B) 59049

(C) 6561 (D) 27729

55. How many times greater is 0.18 than 0.004?

A) 35 (B) 40

(©) 50 (D) 45
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Clameuenis@E 41 euwgl WMMID HeUEHMLW W&EHSE 9 euwgl. QUCUTHO(HHS 6T&H5Hen6wT
21,6807 () &6 ClEUN6VEDT 161 (ETHEMIL LI LOGHEMET 6L LPESTN] LOL TBI(E) 6UWIGI6DLWIGUETTE @) (THLILITET?
A 3 B 5

©) 7 D) 9

seflss Cayalley, Coisdl sgeisb 87.5%. 7 wmewreufser GHTELONLIHLHSTEV, 6786860
LTesTEUT &6 G T6leU(LHETTTT 61T ?
(A) 48 B) 56

(C) 46 D) 54

5 oY6BoTEH6T 3i6V6eVG 12 ClLesETS6IT ClametTL (W @ GMILLINLL uswflemw 78 BrLgsflev (plgsss
(PlWb. 5 oy e8TesEmD, 12 CluesTaEmb CHFbHEl G Lenflenw Wigss ereusuere GBI o @Lh?
A) 44 B 39

(C) 36 (D)  @eummlsv ergieyLA6LEMED

®RMm QUmEESH CsrLieuflensulles mbsTeug WOMID erlLmoug 2 miliL(ereser) (WemmGw
27 oHmIb 729 o &b. SiH6sT 116ug) 2 m)LiL|(6T6voT) 6T63T60T?
(A) 19683 (B) 59049

(C) 6561 (D) 27729

0.004 25 &9l 0.18 eTsz6m60T OLMHIEG Quflwig)?
@A) 35 B) 40

(C) 50 D) 45
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56.

57.

58.

59.

60.

A water bottle is priced at Rs. 15/- which includes the cost of both the bottle and the

water. If the water costs Rs. 12/- more than that of the bottle, what is the cost of the

bottle?
(A) Rs.1.50 (B) Rs.2.00
(C) Rs.2.50 (D) Rs.3.00

John lent Rs. 6 lakhs to Sony for three years at a compound interest rate of 5% per

annum. What amount will John receive after 3 years?
(A) Rs. 6,61,500 (B) Rs.6,94,575

(C) Rs. 6,97,500 (D) Rs. 7,02,450

What is the profit percentage when half the quantity of an article is sold at double the

price?
(A)  200% (B) 250%
(©) 300% (D) 400%

The average age of a group of nine retired persons is 64. When one member leaves the

group, the average age drops to 62. What is the age of the person who left?
(A) 68 B) 72

C) 74 (D) 80

What is the minimum number of square tiles required to completely cover a rectangular

floor measuring 5.25 m by 5.10 m?
A) 1190 (B) 1180

(C) 1860 (D) None of these
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®R(H Hevorevsl ] LITLIgedlesr aflemsv em. 15/- @b, @&Hlev LMLigey MMID SHesoTessl T @) resorigeoT
eflemeuld LMEIGLD. Hevorevofiflesr aflemev em. 12/- umligedlesr eflemevenws 69l HFHl&wMs

@ (HHST6Y, LML i1g65165T 6916016V 6T6IT6T?
(A) em. 1.50 B) em.2.00

€) e 2.50 D) . 3.00

somest Gamestlas @ ,6tT(H&E 5% Fal(h) eully aNEIHSHH6V CLPEITM] U,650T(H & (ETHE(S €. 6 ILEFHENS
SLTTSHS CBTHISSHTT. 3 66T (H&EHE G L LN (G 6T 6Teu6U6Te| GG Tenasenwil Glumieury?

(A) . 6,61,500 B)  em.6,94,575

(©) em.6,97,500 D) em.7,02,450

& Clummerflstr LTS 6Ty @)(H LLEIE allenevuiley alHaslL{HbEUTE SlemLdELw surL &5655LD

6T60T6oT?
(A)  200% (B) 250%
(C) 300% (D) 400%

sUley QUMM spesTLIg| CuT CamesorL (& wellest ermafl euwig 64. e(h 2 mLNesTy (& W6 (HbaI
QeueNCWMIDCUNE, FFTefl euwig 62 Ues GHemDE MG CleusflCuimlw BHUIfleT suwig) eTetTesr?

(A) 68 ®) 172

(C) 74 (D) 80

5.10 BLLm&E 5.25 5 etest emellLLILILL euenTuN6LTerT GlF6UeUSHSH HeMTeMW (LP(LEDLDWITE

ePHeUSD (&S CHMEUWITET (HMMBHLLF FGIT 6L 606N G 61657 6T6vT680 60185 6T63T6UT ?
A) 1190 (B) 1180

(C) 1860 D) @eumnlev eTg0|Bl6VeM6V
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61.

62.

63.

64.

65.

The students of a class are made to stand equally in rows. If 3 students are extra in each
row, there would be 1 row less. If 3 students are less in a row, there would be 2 more

rows. Then the number of students in the class would be
A 24 (B) 36

(C) 48 D) 72

What is the remainder when 85 x 87 x 89 x 91 x 95 x 96 1is divided by 100?
A 0 B 1

© 2 D) 4

If ABC and DEF are both 3-digit numbers such that A, B, C, D, E and F are distinct non-

zero digits such that ABC + DEF =1111, then what is the valueof A+ B+C+ D+ E+ F
(A) 28 B) 29

(C) 30 (D) 31

An accurate clock shows 8 O’ clock in the morning. Through how many degrees will the

hour hand rotate when the clock shows 2 O’clock in the afternoon?
(A)  144° (B) 150°

(C) 168° (D) 180°

It takes 8 seconds for a clock to strike 5. How many seconds does it take for the same

clock to strike 10?
(A 16 B) 8

€ 18 D) 10
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@ euGLLIey mewsTeufsEsT suflemgsefley &wwTs HNHE MeuSSLLIHEDTTEHET. speubleum(m
auflemgullenild 3 TemTOUTSHET Fa(hlHevms @ HHSTE, 1 auflens Genmeurs @\(HSEW. R(H

auflensuiley 3 LMESTEUTSHET (GEOMEUTES @\ (HHSTEV, 2 eUflensseT HH&HWTEH @) (HEELW0. LNedTeory

6U(& L1916V 2 6TT6IT LomesoT6U T &61l60T 6T6v0T 6T 618 4,5 @)\ (HE(&LD.
A 24 B) 36
(C) 48 D) 72

85 X 87 x 89 x 91 X 95 x 96 emws 100 2460 CUEGHETE 1B ereirenr?

@A o B) 1
© 2 D) 4

ABC wpmib DEF @uessthb 3-@evés eemraerms @mbsrey, A, B, C, D, E womw F
g flweney CeumulL yoedlwwmny @evssnhsstrs @Qmbsre, ABC+DEF =1111  eer
@mbsTsd, A+ B+C+D+E+ F e LI eretres?

A 28 B 29

() 30 (D) 31

(I HIVEOIWLIDTET HY&HTTD SHTeney 8 Westllenwsds STLHSIDG. SgsTyn WwSHwd 2 wessflenws
SML(HCUTE) wessll (6T er&Semert 19 if) srpend?

(A)  144° (B) 150°

(€) 168° (D) 180°

®R(H BYSTTD 5 HsHs 8 ellearmyssT P GW. HCsH suysTrL 10 Y&ES THHm6eT N6sTTIYSH6T

&7
A) 16 (B) 8
(C) 18 (D) 10
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66. If you are the 9t person from either end of a queue, how many people are there in that

queue?
4) 10 B) 19
© 17 D) 18

67. If you write down the first 100 natural numbers, how many times will 8 be repeated?
(A) 10 B) 8

©) 19 D) 20

68. Find the odd man out

253, 136, 352, 460, 324, 631, 244
(A) 136 (B) 324

(C) 352 (D) 631

69. % of a tank holds 135 litres of water. What part of the tank is full if it contains 180

litres of water?

NI ® Y
© % o) 2
70. Find the next number in the sequence : 1, 6, 13, 24, 41, ?

A 77 B) 62

(C) 66 (D) 61
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braigeT 6(m suflemaullest @\ (penesTaefled(HhHSID eugk BHUTTES @ HHSTEL, HbHS euflensullsv
T&HSHem6sT GUIT 2 6T6menTry?

A) 10 B) 19

© 17 D) 18

&6 100 @wi6v eTevsTHEMET BraIGH6T 6T(LHGBTTEV, 8 6TSHSHEM68T (MM H(HLOLIS H)(HLOL 6U(HLD?

A) 10 (B) 8
©) 19 (D) 20

(LPIJ6TTTITETT 6T6BOT6MI6BT 8> &650TL M1 W6 LD
253, 136, 352, 460, 324, 631, 244

(A) 136 (B) 324
(C) 352 (D) 361

@R CsmlyguNsy 135 eSlLLy Hevorewty % LGSWle 2 6Terg). b CIBTLIgulled 180 6OILLy
&esuTenst | @) (HHSTev QG TLiguNedT eTh&SLI LGS HFbLNu @0 ?

@ % ®

© % D) %

euflengullest Si(hH&S eTesuTementTs: SHesorLMlwed : 1, 6, 13, 24, 41, ?

A 77 B) 62

(C) 66 (D) 61
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71. supposed to complete these assignments by afternoon?
(i) ShouldI
(1)) Aren’tl]
(i) AmlI
(A)  Only ()
(B) Only (1)
(C) Both (i1) and (ii1)
(D) Only (ii1)

72. Students are advised to refrain bad company.
(A)  of (B) against
(C) for (D) from

73. A few workers participated in the strike, ?
(A) did they (B) didn’t they
(C) will they (D) isn’tit

74. “Where is the bus stand?” said the young man. (Change into indirect speech).
(A) The young man enquired where was the bus stand.
(B) The young man asked for the bus stand.
(C) The young man wanted to know where the bus stand was.

(D) The young man enquired about the bus stand.

75. The singer performed
(A) at the concert for two hours melodiously.
(B) melodiously for two hours at the concert.
(C) for two hours melodiously at the concert.

(D) melodiously at the concert for two hours.

A -40-



056/2025-T

76. I expressed my strong desire to learn kayaking canoeing to know the

differences.
(A) either...or
(B) neither...nor
(C) Dboth...and

(D) such...that

77. There are no less than fifty packets of noodles in the carton. (Correct the sentence)
(A) There are not less than fifty packets of noodles in the carton.
(B) There are no fewer than fifty packets of noodles in the carton.
(C) There are not few than fifty packets of noodles in the carton.

(D) There are not lesser than fifty packets of noodles in the carton.

78. Next year, I guitar for twenty years.
(A)  will play
(B) will have been playing
(C) will have been played

(D) will not be playing

79. Are we not going to finish the lesson today? (Change into Passive voice)
(A) Isthelesson going to be finished by us today?
(B) Will the lesson be finished today by us?
(C) We are not going to finish the lesson today.

(D) Will we finish the lesson today?
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80. His teacher tried at correct him by giving valuable advices. (Correct the sentence)
(A) His teacher tried to correct him by giving valuable advices.
(B) His teacher tried to correct him by giving valuable advises.
(C) His teacher tried to correct him by giving valuable advice.

(D) His teacher tried at correct him by giving valuable advices.

81. Yesterday Tim parked in a restricted area and the police his truck. (Choose

the word that best completes the sentence)

(A) 1impounded (B) imprisoned
(C) 1impaled (D) interned
82. I was when they rang up and informed that I had won a lottery. (Choose the

correct idiom)
(A) flying off the handle
(B) on cloud nine
(C) atloggerheads

(D) redin the face

83. It was her first appearance in public as a performer in Bollywood movies. (Give one word

for the words in italics)
(A) Culmination (B) Omnipresence

(C) Debut (D) Masterpiece

84. The company celebrated the accomplishment of all their goals. (Choose the antonym of

the underlined word)
(A) Failure (B) Fruition
(C) Execution (D) Debacle
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85. The weather is suitable for sowing seeds. (Choose a similar word for the underlined

word)
(A) congenital (B) congenial

(C) contagious (D) converse

86. Choose the word that is spelled incorrectly.
(A) Bureaucrat (B) Entrepreuneur

(C) Intelligentsia (D) Septuagenarian

87. “respondez s’il vous plait” means
(A) Please serve on a silver plate
(B) Peace be with you
(C) You should be responsible

(D) Answer please

88. The thieves the apartment while the family was on a vacation.
(A) Dbroke into (B) broke down
(C) broke up (D) broke away
89. Antennas able cockroaches to sense their surroundings. (Choose the correct
prefix)
(A) dis - B) un-
(C) en- D) in-

90. The phenomenon of glowing sea water signifies changes in the marine environment.

(Identify the plural of the underlined word from the choices given.)
(A) phenomenas (B) phenomena

(C) phenomenal (D) phenomenum



056/2025-T

91. wremeTeNWE HM&EGHLWD C\FT6v 6157

@A) epuf (B)

€) s D)
92. ‘s ereTLg) (GLD.

A)  upemeu (B)

(C) g D)
93. #fleg?

(A)  umeneu Fallgey 2 MkIGE ETmEDT.
B) yed umiipbgl e esTmEDT.
(©) B saawg).

(D)  wuNev Limges.

94. e+ GHTMILD : S(GLD.
(A)  mmeTCxmmmiDd (B)
(C) mrGemrmmyid D)

95. ‘aiMfleumefl’ stesTLISET THTCIFTEL 6THHI?
&) sifley Blenpbseustr
(B) usewryLi& &6t

©)  pmev

D)  epLer

GCeumliens

6L

alevsi(g

BTGLTMILD

BTLGLTMILD
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96. ‘siemenT HLHS CleusiTemid CLIT6V’ 6T6ITLIG)
(A) 2.1bemi B) 2 eaemw

(C) = (peusbD D) @EemewTOFTL

97. NetteumeueToumMmI6T LG 6157
A) @ueawns b Gumey
(B) Ggry Gemyp umsssTigWIT
(C) sbUHL 6u6TEBHEU(HLD @)6ThGaHTayLD

(D)  aNemerwyd LUNT WemeruNCov Q& Hlujid

98. QemiEmd ereusumm) Nifluyb?

(A) QF+@Gms B) Q& + GmS)

(C) Q&wbenw + Gm D)  Aauliy + GBS

99. ‘eNmULY’ eTetTLIL 6T 6THT GlFmev
A)  eN@mLULWLTeT B) Qeumiiy

(©) Qeugmiy D) Qummuy

100. ‘Software’ eTetTLIG6T HLOLPMEHESLD 67517
(A)  eussTQUIT(RET (B) suemeuliLGELD

(C) evesTwibd (D) QusTQum(meT
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Space for Rough Work
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Space for Rough Work
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6210GY aljds 6210GY o ljds
@OBHD GO (SO N
8210B)6IBRIOS @O ag)emo : 100 Moo : 75 almlg

alomocudll mod®es) : 100

10.

11.

12.

13.

14.

963NIAM L BHES TIDBFUEMBRD

€010B) ESLIQY M@EYM®) €106 aljPd> @al@Blenens. A, B, C, D ag)amil moel @od:xo eoud-alenas
32106 A TYBETBRIEN MM

6l0B) alMYHOETION G OSE AUED (A ICmiH CHIBOHIE Gol0B) alPd @OHHD  CHIUY
@no)sloflgiens.

89600 ©EBPMINVMAlENe MMHIWSER 62108 aljVd: BOLHUD GHIW @OAUMOS aldletd a0d&ler!
dlaflserilcd coaleqsiomlddleno.

MlemsdenMAUE IAHMRM  @oHHO  eHOUl@  dflmio AR  CHIWIARES €.0103)  al}qVdE-moaTy
2IElHNME®EIT @o® ©SMS] aleleaqgmes (AL BeQISIEEmENE®I6NT.

G0l10B) allVd: @O MM all00.0ISWNS QIRIENINETE MGHEQOMIW] GoIRGBIRENS. (@a MMUD LoD
30196 allB006M (il6T3WBHE) AIElHHME®SIT BOED @OHHUO CGHHIUILNEE 62103 aljDd:0 MIF] QIETEIE:.
61068y alj@dho aleley modKAI@ oaby OWEMIY] M@ 6.01Q)dlenie. HEMOONYIMIMEBE @RMIAE
216l.2J08IR|06® 60106} a JPE0 MOHHIM aldslg).

aldley mysemsloeys® oeapPRmodmdl males aldaldenm eolsy almeori@d 100 ealsimmalo
(@000 9830 g aldlerouflesneNEmIEM. GoldB) AlIEHETH@  @0oISleHIOME®I, BICIWEmI,
Qfl51EaI0EmO @OW GalRd(d ©EMBIMIL); @OLNNI0 OeMEEI @PHHIR malledleaigmes wyELWIGD
OE06NZOUCIBWI0 @OED @OBHO EHOWILRER a YDA E.210G) alj(Pdo MGl QUOETRB®)0 6.216YENS®IE.
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